@ blustar

2021_Space160 - | Bagno Chimico per Disabili

T blustar Code

Description Descrizione

DISTINTA
BASE

Qty.Needed

TB-ADA-001 PCS Roof Tetto 1
TB-ADA-004 PCS Base for Space160 Base per Space160 1

Additional Smaller Pannelli Intermedio per
TB-ADA-002 PCS Dimension Panels/Walls P 3

Space160
for Space160
TB2-002 PCS Panel / Wall Parete 3
TB2-003-B-FRAME ~ pcs 00O Frame & Door Montante 1
Assembled

TB-ADA-003-A-DOOR PCS Door for Space160 Porta per Space160 1

Front Door Panel for Pannello frontale Door
TB-ADA-003-C-PANEL PCS Space160 per Space160 1

i

| ) Corner Sink/Fresh Serbatoio in angolo per

TB-ADA-FLU-SNK-TANK PCS Water Holding Tank for golop 1

Flush and Hand Wash lavamano

TB-ADA-005

PCS

Tanical/Serbatoio WC in

Corner Toilet Tank
angolo

. TB2-007

PCS

Toilet Paper Holder Portacarta

Page 10of 6



@ blustar

2021_Space160 - | Bagno Chimico per Disabili

DISTINTA
T blustar Code Description Descrizione BASE
Qty.Needed
Plastic Cap for Tappo in Plastica per
i TB-BLU-08 PCS Aluminium Toilet Paper ' PP P 1
Asta Porta Carta
Holder Bar
TB-BLU-03 PCS Toilet Paper holder Bar Asta Porta Carta 1
TB2-008 PCS Ventilation Pipe Tubo di Sfiato 1
Pompa a mano per la
TB-HAND-PUMP PCS Hand Pump for circolazione del 1

Circulating System sistema

Kit tubi corrimani +

Kit Hand Rails & Under Sottopedana Telaio

TB-ADA-HR-01 PCS Base?t;izhgznt for Space160 + Maniglia 1
P Porta
- TB-ADA-HR.-02 pcg Plastic Caps Kitfor  Tappiin Plastica per Kit A
Hand Rails corrimani
% TB-ADA-TIPTOE-PUMP PCS Tip-Toe Press Pump Tip-Toe Pompa 1
Deep toilet Bowl Diaframma Nero
@ CIRC-N-I-15 PCS T-Evolution T-Evolution 1
m TB-BLU-FS01 PCS Toilet Seat Seggetta
|
TB-BLU-02 pcs FaneltoDoorlatch o o) Lcchetto
Bracket for Lock

Page 2 of 6



@ blustar

2021_Space160 - | Bagno Chimico per Disabili

DISTINTA
T blustar Code Unit Description Descrizione BASE
Qty.Needed

TB-DOOR-00002 PCS Door Hook Appendiabiti 1
TB-DOOR-00003 PCS  Door Latch Bracket Piastra Molla Porta 1
TB-DOOR-FS05 PCS Sliding Door Lock Piastra Serratura 1

Door Lock red/green

TB-DOOR-FS06 PCS X Serratura scorrevole 1
Cover Indicator
Interior and Exterior
TB-DOOR-FS07 PCS Door Handle / Grab Maniglia 8

Handle

TB-DOOR-00008 PCS Door Hinge Cerniera 3

Door Spring for Molla per Porta

TB-DOOR-0000020 PCS MyBlok and Space160  MyBlok e Space160

/ TB-DOOR-0000015  pcs  Fanel Grid for Air Rete Areazione 6
Ventilation

PN Washer for Hinge Rondella per cerniera
Fe TB-DOOR-0000011 PCS DIN125 A-140 HV DIN125 A-140 HV 12
M8 X 24 M8 X 24
2 =g TB-DOOR-00009 PCS HINGE NUT Dado per cerniera M8 12
TB-BLU-04 PCS Long Rivet 5x25 Rivetto Grande 5x25 150

Rondella Piana per

Washer for Rivet Rivetto

TB-BLU-05 pcs DIN125AZNB.D64  n\ 4550 7ZNB. D64 136
D. EX. 24 - Thickness
D. EX. 24 - Spessore
1.44 mm
1.44 mm
SRR Washer Stainless Steel Rondella Inox per
= TB-BLU-09 PCS for Handle M5 Maniglia M5 14
Screw to Reinforce Vite per Staffa rinforzo

— TB-BLU-11 PCS Door 5x35 Porta 5x35 13

Page 3 of 6



@ blustar

2021_Space160 - | Bagno Chimico per Disabili

DISTINTA
T blustar Code Description Descrizione BASE

Qty.Needed

TB-DOOR-0000014 PCS Small Rivet 4,8x16 Rivetto Piccolo 4,8x16 48

Door frame/spring Piastra per molla

TB-DOOR-0004-S PCS bracket montante

Rubinetto /Becco

TB-WSH-001 PCS Water Spout for Sink . .
d'acqua per il lavamano

Piletta Tappino filettato
con fori

\“% TB-DOOR-00001 PCS C-bracket for door Staffa a C per porta 1
T
e |
. 2

TB-WSH-004 PCS Drain Cover

Kit for T-Wash : Nut for

Sink + Elbow for Faucet 1t for T-Wash : Dado
X . Rubinetto + Gomito
+ Drain + suction

Q \ TB2BK-WSH-00 PCS  connection for Foot . Rubinetto + Piletta 1

. Completa di Scarico +
Pump + suction s
Raccordo Aspirazione
connecotr for Hand-

Wash per Lavamano

[ 7™
TB-ACC-CAP-003 PCS Cap Kit Kit Tappo 1
Latch Key to Secure . . .
Chiave in Plastica per
” TB3-LK-01 PCS a"sdmzﬁi’;::‘;ef;gg::d le Maniglie a Scatto e 1
Top Tappo

i 6‘ TB-TUBI-C-01 1] Crystal Tube Tubo Cristal 0,10
S TB-TUBI-C-01 M Crystal Tube Tubo Cristal 0,10

TB-TUBI-N-01 MT Black tube/Hose Tubo Nero 0,40

/ TB-TUBI-N-01 MT Black tube/Hose Tubo Nero 0,62

Page 4 of 6



@ blustar

2021_Space160 - | Bagno Chimico per Disabili

T blustar Code

Unit

Description Descrizione

DISTINTA
BASE

Qty.Needed

TB-TUBI-N-01 MT Black tube/Hose Tubo Nero 1,05
/ TB-TUBI-N-01 MT Black tube/Hose Tubo Nero 0,15
/ TB-TUBI-N-01 MT Black tube/Hose Tubo Nero 0,60
PRk ] Metal Hose Clamp -
’2,;13\ CIRC-N-I-07 PCS Small Fascette Piccole 12x20 9
= 12x20
= :
e T ML Metal Hose Clamp - Big .
) CIRC-N-I-08 PCS 25x40 Fascette Grandi 25x40 4
. TB-TAP-001 PCS Plug hole Tappo di Scarico 1
CIRC-N-I-01 PCS Nozzle Ugello 1
Kit per Ugello
composto da
Noozle Kit composed  :Portagomma diritto F
by: Hose connector with  con ghiera mobile e
CIRC-N-I-016-SP PCS stopper secured guarnizione EPDM + 1
+Adaptor Sleeve 3/4" x  Bussola di Riduzione
1/2" + Plastic Washer MF 3/4" x 1/2" +
Rondella in plastica
fresata
' TB-HAND-PUMP-01 PCS Plastic Cap for Hand Tappo in Plastica per 4
Pump pompa a mano
e — N}
' Door Frame Bracket -
TB-ADA-BRACKET PCS Staffa porta Space160 1
Space160
Zinc Coated Tube for Tubo zincato per
TB-ADA-TUBE-Z-02 PCS Tank - Space160 Tanica x Space160 1
57 cm 57 cm

Page 5 of 6



@ blustar

2021_Space160 - | Bagno Chimico per Disabili

T blustar Code

Unit

Description Descrizione

DISTINTA
BASE

Qty.Needed

TB-TUBI-N-01 MT Black tube/Hose Tubo Nero 1,05
/ TB-TUBI-N-01 MT Black tube/Hose Tubo Nero 0,15
/ TB-TUBI-N-01 MT Black tube/Hose Tubo Nero 0,60
PRk ] Metal Hose Clamp -
’2,;13\ CIRC-N-I-07 PCS Small Fascette Piccole 12x20 9
= 12x20
= :
e T ML Metal Hose Clamp - Big .
) CIRC-N-I-08 PCS 25x40 Fascette Grandi 25x40 4
. TB-TAP-001 PCS Plug hole Tappo di Scarico 1
CIRC-N-I-01 PCS Nozzle Ugello 1
Kit per Ugello
composto da
Noozle Kit composed  :Portagomma diritto F
by: Hose connector with  con ghiera mobile e
CIRC-N-I-016-SP PCS stopper secured guarnizione EPDM + 1
+Adaptor Sleeve 3/4" x  Bussola di Riduzione
1/2" + Plastic Washer MF 3/4" x 1/2" +
Rondella in plastica
fresata
' TB-HAND-PUMP-01 PCS Plastic Cap for Hand Tappo in Plastica per 4
Pump pompa a mano
e — N}
' Door Frame Bracket -
TB-ADA-BRACKET PCS Staffa porta Space160 1
Space160
Zinc Coated Tube for Tubo zincato per
TB-ADA-TUBE-Z-02 PCS Tank - Space160 Tanica x Space160 1
57 cm 57 cm

Page 5 of 6



